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2 hours muon run 361, DIF 1, chip 12 (all channels)

00 Muon run 361, chip 12, fit to smeared Landau

600-
mpv= 61.61 +/- 0.1203

scale= 6.32 +/- 0.0663
sigma= 4.00 fixed
nev=24022.00 fixed

Counts

200-
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Unambiguity due to S-curve

No way to distinguish Landau from Landau * S-curve — uncertain position of
trigger threshold (be careful: Landau * S-curve perfectly mimics pure Landau)

Muon run 361, chip 12, fit incl. S—curve

2000-

mpv= 47.87 +/- 1.209
scale= 4.16 +/- 0.347
mean.s= 59.24 +/- 0.558
sigma.s= 8.05 +/- 0.310
sigma= 4.00 fixed

nev=25074.00 fixed

Counts

1000+
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